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First Names

Landon

Ryan

Internet Browsers

Internet Explorer

Mosaic

Opera
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$1760

$1850

$1960

Rewards

$1990

Cingular

Sprint

T-Mobile

Cell Phones

US Wireless
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1. The person with the T-Mobile cell phone only uses Safari for their web surfing.
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2. The person with the US Wireless cell phone is Ryan.

3. Of Jasmin and Ryan, one earned the $1760 reward and the other only uses Internet Explorer for their web surfing.

4. Either the one who received the $1990 reward or the one who received the $1760 reward only uses Mosaic for their

web surfing.

5. The one who received the $1960 reward doesn't have a cell phone with US Wireless.

6. Landon was rewarded less than the person who prefers using the Mosaic browser.

7. Jasmin was rewarded less than the person who prefers using the Internet Explorer browser.

8. The person with the Cingular cell phone is not Abby or Jasmin.
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